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OZ=8d 2x04d X2 3,000,000& 3,000
= 1,500
i 1,500
201 LBt 3| 14,804 24,500 29,696
02 23294l 14,804 24,500 9,696
OdzH| 10,000
—aBANEE 2Z 1,250& » 1004 = 80 10,000
OA&EHI S X 4,804
—AZAEE MU (LHAAS 1BE) 120,090,0002 * 0.08 * 0.5 4,804
206 M=l 24,000 24,000 0
01 M=z 4l 24,000 24,000 0
OASANEE 23 M= 240,000& * 100& 24,000
301 Let2 4z 1,000 500 500
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2N
X XH -
S Tt

SRk

seJl=s4H
SENEZAE
sell=X#

m

0
e
0

= A S CHRI(BI) - MR A Aol e =2t

10 ¢ HEAZ 1,000 500 500
OF HIEIIS 5,000& * 508 * 43 1,000

401 AlEHIZ RO 40,000 20,000 20,000

01 A&l 40,000 20,000 20,000
OF=] [HIZ HIY WX 10,000& = 2,000m’ 20,000
OF= [HEZZ HUIZA 20,000,000 20,000

s9J|= HNEEA X 5,000 5,000 0
& 2,500
= 2,500

201 LBt 3| 5,000 5,000 0
= 2,500
= 2,500

01 A el 5,000 5,000 0
OsgI=38 825A XN 20,0003 * 250% 5,000
== 2,500
2,500

sEXNE BN 549,300 339,320 209,980
s 110,000
& 200,000
i 239,300

401 Al&HI LSO 509, 300 339,320 169,980
s 100,000
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A sII=4dH
g2 sENEAMEY

&t sZII=XN& (ctel &
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2
401 AlEHIYL204bI = 200,000
= 209,300
01 Al£HI 500,000 334,700 165,300
OEMNESAZ MHAS 500,000,000& = 14l 500,000
s 100,000
& 200,000
i 200,000
02 Zeltl 6,150 4,620 1,530
OEAMNESAHE MA= 500,000,000& * 0.0123 6,150
03 AlZ=C0HYI 3,150 0 3,150
OFBAMNESAS WA= 500,000,000& * 0.0063 3,150
405 XH&HFE SH| 40,000 0 40,000
s 10,000
= 30,000
01 T =SHSHI 40,000 0 40,000
O=3 K& Xt 30,000,000& = 1CH 30,000
s 5,000
i 25,000
OE2Z&Hl L (TXE0 S) 10,000,000 10,000
P 5,000
o 5,000
d2sgel 54 420,087 259,411 160,676
= 32,489
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2N
X XH -
S Tt

SRk

s I|=dH
sENETALS
Moesoiol M

o C Jo

m

0
e
0

SN EY O (BH) - MR - Ba= Aol e =2t

307 2I2t01 & = 64,600

02 QItFAE X 70,000 70,000
Oog=s8da3a IA 1,000,000& = 289 28,000
OsE3s2 IH&E A& 6,000,000& = 3H 18,000
== 5,400
i 12,600
OsEN=0lggd 22X 6,000,000& * 49 24,000

402 2U2tXH=01A 26,775 26,775
= 4,725
i 22,050

01 QIZERI=2E2 X 26,775 26,775
O=sItE==201 K& 1,785,000& * 159 26,775
= 4,725
= 22,050

sgold s4 163,636 84,244
= 9,568
& 3,288
i 150,780

201 LBt Z| 21,750 20,750
& 3,288
= 18,462

01 At®R2teldl 21,750 21,750
O et=ZH| 20,550
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2N
X XH -
S Tt

SRk

s I|=dH
sENETALS
Moesoiol M

o C Jo

m
40
o
{0

SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2

02 QUAHBASE X 16,136 23,136 A7,000
O4-H= A3 SH XA 1,060,000& * 1JH3] 1,060
& 530
o 530
Og=4-Hal & WHE=s K& 5,000,000& = 2% 10,000
& 8,000
i 2,000
Od=cs=stt=2Ua K& 3,000,000&  1CH& 3,000
OsEXNEX SEX2AY 2,076,000& * 1JH3l 2,076
= 1,038
i 1,038

402 QI2HXE201H 78,000 0 78,000

01 QIZEAI=2E2 X 78,000 0 78,000
Oureld|A ZEM XA 36,0002 = 3,5002 = 0.5 63,000
OU=ZEH AMY K& 1,500& * 10,0004 15,000

SHsEURSEEXNES 67,938 67,938 0
L= 13,590
= 54,348

201 LetEg] 67,938 67,938 0
& 13,590
= 54,348

01 At22eldl 67,938 67,938 0
OFH=sg3d2 RsZEN B35 80,4003 * 845% 67,938
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A sII=4dH
M sE=EXNEAMY

ol 2=l s4 (e m el
SN HB S (BH) - MBEAY - BAS of Ao S HRS2

01 20yl 6,340 6,650 A310
Os&ALEE bl 34,000& * 1509 5,100
= 2,550
= 2,550
Od&RXlAs &MY 620,000& * 23| 1,240
= 620
= 620

SHMNEEASEIAIEAN 5,040 4,311 729
= 5,040

202 O4d] 1,680 1,326 354
= 1,680

01 =Woibl 1,680 1,326 354
OsttEaASSIASEA 20,000 * 42=JF * 23] 1,680
= 1,680

301 LEtEAZ 3,360 0 3,360
= 3,360

12 JIEIE A2 3,360 0 3,360
OsMEBEAERAIESE SIIEA 80,000& * 42= 0t 3,360
= 3,360

SSoIE 6,000 0 6,000
= 4,200
iy 1,800

402 QI2EXH=0l M 6,000 0 6,000
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A sII=4dH
g2 sENEAMEY

ol 2=l s4 (e m el
SN HB S (BH) - MBEAY - BAS of Ao S HRS2

402 QI2EXE0| M = 4,200
iy 1,800

01 RIZE=ExX 6,000 0 6,000
O=sgoleH 600,000& * 102 6,000
= 4,200
= 1,800

SPYEEoIHE AN 27,558 0 27,558
= 13,779
o 13,779

301 LEEAZ 27,558 0 27,558
= 13,779
o 13,779

10 SHAIAHIEAZ 24,458 0 24,458
OdlF=sgol DX 10,000,000& = 1JHA 10,000
= 5,000
= 5,000
OsZ&XNEX 4R 1,600,000& = 1013 1,600
= 800
= 800
OGAP(ResitS2e| )=l s A 654,000& * 28 = 1,308
- 654
= 654
O&BS Ny B4 450,000& * 13| 450
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A sII=4dH
M sE=EXNEAMY

ool sl §4 (sl &
SH-HH . H(BH) - HRAY - B2 Ofl AF o4 (%ggi; HRE2
OS=2E=g0 AR WsAME 1,300,000 1,300
= 650
i 650
sll=E=2 B2 9,000 0 9,000
= 6,300
= 2,700
101 QI 24H| 9,000 0 9,000
2 6,300
i 2,700
10 JIZtH22AHSES 9,000 0 9,000
OXNASINSHEE XA BX 750,0002 * 122 9,000
= 6,300
- 2,700
SEMEO| A3t 382,650 436,230 A 53,580
2 95,000
s 25,000
=2 2,900
= 16,850
= 242,900
SHYSZ A 42,050 123,400 A 81,350
= 3,000
= 39,050

_77_




FA: Eals
H: T AN
=CE go| g CHe i H )
. CHR|(B1H) - MR A 849 Ak gggﬁ =2t
202 044 4,050 5,400 A 1,350
01 = 4,050 5,400 A1,350
Od= 112,500 » 3% « 12 4,050
206 M=H 28,000 28,000 0
01 M=d 28,000 28,000 0
Os 4,000,000& * 7JH2 28,000
402 212HXt 10,000 50,000 240,000
= 3,000
= 7,000
01 2I2tXA=2 10,000 50,000 40,000
Os&ge 10,000,000& = 1JH2A 10,000
& 3,000
[Ea 7,000
EA4E = 50,000 117,000 267,000
= 25,000
= 25,000
402 SI2tX 50,000 117,000 267,000
= 25,000
o 25,000
01 222X 50,000 117,000 A67,000
Os&Eddd+0=54 50,000,000& = 1JH2 50,000
= 25,000
i 25,000
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2M: sgII=HH
M =N AL
el sEMEO H2ig (el de)
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
SE0H 222D =X 30,000 50,000 A 20,000
= 9,000
o 21,000
402 QI2EXE0lN 30,000 50,000 20,000
= 9,000
o 21,000
01 IZX=2BEX 30,000 50,000 220,000
OALSENE 18EdE XA 30,000,000& = 1JHZA 30,000
& 9,000
= 21,000
METHE DBt xS ¥ sE=04 24 50,600 143,330 N92,730
= 1,900
== 1,850
o 46,850
201 LBF2AH| 17,950 13,600 4,350
& 1,850
o 16,100
01 ArR2t2lbl 17,950 13,600 4,350
Odtt=24| 9,750
—nUEAHA EEE S22 & 50,000& * 105 500
—MEINAHS HERX HE 25,000& = 370Y 9,250
== 1,850
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FM: sgII=4dH
dM: sEXNTAMG
Chol: sEMEO Belg chelE
SA - E S (3) - HIRA &k oy e =2

= 1,500

fiis 1,500

SEHATHOHOE Al 40,000

= 20,000

= 20,000

307 2IZ2told 40,000

= 20,000

i 20,000

02 QltHAEX 40,000

Os&HIetdIH Al 40,000,000& * 1JH2 40,000

= 20,000

i 20,000

SHASZINS HOIHHIXE 50,000

s 25,000

i 25,000

402 U2t THE0IH 50,000

s 25,000

= 25,000

01 2R=8x 50,000

OsXHYSZdE0I & K& 50,000,000& * 1JHA 50,000

s 25,000

i 25,000
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FM: sz
dM: sEXNTA
CHol: SEME chelE
B ol (B1) - HIRAIY - A S Akl e =
SEMED 100,000 100,000
= 50,000
= 50,000
402 100,000 100,000
= 50,000
i 50,000
01 BIZEXI=22 X 100,000 100,000
Otz dste sEx=HEE 100,000, 000& 100,000
= 50,000
i 50,000
SELUXE 17,000 17,000
= 1,000
L= 1,500
= 14,500
402 212t 17,000 17,000
= 1,000
& 1,500
= 14,500
01 2AREEX 17,000 17,000
Os&ELolde E=4 5,000,000 = 1JH2 5,000
& 1,500
o 3,500
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2M: sgII=HH
M =N AL
el sEMEO H2ig (e e
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
Osskoius g3 2,000,000& = 1J0HA 2,000
= 1,000
= 1,000
OsEL0MEXNZOIE 'Y 5,000,000& * 202 10,000
20 - E& NSE Ma 427,040 1,335,480 908,440
= 90,375
o 336,665
=2 DEE MDD B2 423,240 87,770 335,470
== 88,875
iy 334,365
101 Q1| 1,500 2,649 A 1,149
10 JIZHZ22XANsSE+ 1,500 2,649 A1,149
Ostaat0lLiel STEA 20| X& 50,000& = 3" * 103 1,500
201 B2 HH| 1,900 2,000 A 100
01 At22t2ld| 900 2,000 A1,100
Ot H| 900
—stADILI2l E22 MIE 250,000& * 2& 500
-0, ¢dls53 SAIIE, 2lz3 S 100,000 * 2& * 23| 400
03 SHAISHHI 1,000 0 1,000
Ot atolLieIS X AHIESXSA X = 500,000& = 2CH 1,000
202 (O4d] 10,400 5,400 5,000
= 2,500
iy 7,900
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A sII=4dH

M sEXCAY

ool B0) - SX DB M4 (cro): m e
SA-FB L SA(3) - MEAY - BLS 0 &2 e HIDE2
01 =UWoHl 5,400 5,400 0
O70z=s NEEMMI =25 112,500& = 498 « 128 5,400
04 =M=t 5,000 0 5,000
OCRHMZAHLEEE NES3FRd 54 U= 5,000,000& » 19H 5,000
= 2,500
[ia 2,500
206 M=l 46,140 33,820 12,320
01 TZHI 46,140 33,820 12,320
Ot OILI S A AHSHAAL ELAME WY 28,0008 =+ 102HA = 33 840
Ost&stolttel &&d |IIZEH X (500%) 12,600,000 12,600
OsteaOlLtel @8 SAXA(BL0IY YH) 25,0002 * 180 * 0.6 2,700
OltsEMMzZZad 2H K& 20,000& * 1,500 30,000
301 et a= 2,500 1,400 1,100
10 AL HIE2& = 2,500 1,400 1,100
Ost2At0ILIeI SRl ABIEXEA B3 20,000& * 509 1,000
Olts,2lsS3 WUsEAN 24 5,000& = 200& = 13 1,000
ORUANE ST DEBA B 20,0002 * 53] * 52 500
308 XXX SOI& 1,000 1,000 0
05 AXHHAREHS 1,000 1,000 0
Od= Dts:HIIZAg s RFE= 1,000,000& = 13 1,000
402 SI2EHE01& 359,800 41,501 318,299
< 86,375
i 273,425
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M sI=dH
g2 sENEAMEY

ool ROl SR DEI M CLEL
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2
01 QIZERI=2E2 X 359,800 41,501 318,299
O&II2ZI| XNIAAMS 16,500,000& * 70H4 = 0.4 46,200
= 17,325
o 28,875
OL20t2A A4S A 30,0009 * 6,930m" /3.3m" * 0.5 31,500
& 15,750
i 15,750
OLJIsgR 8824 JIINM XA 20,000,000+ 0.5 10,000
& 3,000
i 7,000
ORMSI0IE8 DSEHLAHY 12,500,000& * 4042 * 0.8 40,000
= 15,000
= 25,000
Or st satg MAZRH(EED])XE 2,000,000& * 4Ji2 = 0.8 6,400
= 3,200
o 3,200
O==&= BMIASE Al 8,000,000& = 392 = 0.8 19,200
& 7,200
i 12,000
OdlgAaXtsgH SN ==& AEY 19,000,000& * 1JHZ * 0.8 15,200
& 5,700
= 9,500
OLHTE 20z=2 SEHEY 6,000,000& * 492 = 0.8 19,200
= 7,200
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M sI=dH
g2 sENEAMEY

ool ROl SR DEI M CLEL
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2

i 12,000
OANE20 KSHHE SH2dl B2ZAY 20,000,000 * 1Jia = 0.8 16,000
= 6,000
o 10,000
OAME&H HAHYUYA HESFEZE AY 10,000,000& * 244 = 0.8 16,000
& 6,000
i 10,000
OANEMx s SULH AL 14,000,000& * 294 = 0.6 16,800
OAETHA 2HHI B Al 10,000,000& * 5J14 = 0.6 30,000
OAMEMa AHTHHM L EAHME Ml Al 6,000,000& * 5JH2 = 0.6 18,000
ZEF DAl ZETHEE AIEALS 3,500,000& * 1JH2 + 0.6 2,100
OdXEES SSEHES ANEHAY 9,500,000 * 1JH2 * 0.6 5,700
OXNGEMES(ZHE) ABAS 12,500,000& * 1J0H4 * 0.6 7,500
O0ts2t =2 AEHAS 12,000,000& * 5ha 60,000

HASHHE MAXIA 3,800 143,000 A 139,200
L= 1,500
= 2,300

201 YB3 | 3,000 3,000 0
& 1,500
= 1,500

01 AtS2teld] 3,000 3,000 0
Oget=ZH| 3,000
—SUOHE S HAM 3,000,000 = 1JH2 3,000
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A sII=4dH
g2 sENEAMEY

CHol: Dpaotel HME EA (sl &
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2
= 130,000
= 52,000
o 78,000
NEESALY 729,400 0 729,400
s 521,000
& 98,703
= 109,697
402 SI2tXHE0IHE 729,400 0 729,400
s 521,000
& 98,703
= 109,697
01 QIZtR=8x 729,400 0 729,400
OLHE NSHMADIBE ZH(1IHL) 309,400, 000& 309,400
s 221,000
< 39,780
i 48,620
OAYUMSE0l ASSEH X2 (10HA) 210,000,000& 210,000
s 150,000
= 28,923
o 31,077
OHASE E HHNZLAE A8 K& 300,000,000& = 0.7 210,000
s 150,000
= 30,000
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A sII=4dH
M sE=EXNEAMY

ol DAIR AW B (e e
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
= 30,000
==t S MAD|BEE S 124,290 20,000 104,290
= 33,200
= 4,800
o 86,290
101 ol 2] 18,540 0 18,540
10 JIZHZ22XNEES 18,540 0 18,540
O=3 22l 30,900 * 5% x 120 18,540
201 LEt2AH| 1,500 0 1,500
01 ArR2t2|tl 1,500 0 1,500
Ogbt2H| 1,500
— st EHEsE 8 285 7Y 3,000& * 1008 * 58 1,500
202 0t 4,050 0 4,050
01 =Wodl 4,050 0 4,050
O3tz JI=23 112,500& * 3% » 12& 4,050
206 M =H| 20,000 20,000 0
01 M=Hl 20,000 20,000 0
O=38& ¥ A7 200,000& = 1008 20,000
301 LBt A2 1,000 0 1,000
10 AL HIBAZ 1,000 0 1,000
Ostslag =8 MI)Ilsns AL B4 5,000& * 100 * 23] 1,000
402 QI2EXE0l N 79,200 0 79,200
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A sII=4dH
M sE=EXNEAMY

CHol: Dpaotel HME EA (sl &
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2

402 QI2tX201H = 33,200
& 4,800
= 41,200

01 BIZEAI22 X 79,200 0 79,200
Ozl MG DS CH2r At 66,400, 000& 66,400
= 33,200
i 33,200
ORI HX ZSZ A MA 12,800,000& 12,800
== 4,800
o 8,000

== Z=AMTHEE AIE AL 10,000 67,816 AN57,816
= 5,000
= 5,000

307 2I2t01 & 10,000 23,616 A 13,616
& 5,000
= 5,000

02 QItFAE X 10,000 23,616 A 13,616
OIS KT K& 10,000,000& 10,000
& 5,000
i 5,000

sHEMNESE XA 124,950 120,240 4,710
& 35,700
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A sII=4dH
M sE=EXNEAMY

CHol: Dpaotel HME EA (sl &
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
sHAZMHEE XS = 89,250
307 2Z2t0lH 124,950 120,240 4,710
& 35,700
i 89,250
6 23 124,950 120,240 4,710
OsZ=Moll 2EE=2 XA At 178,500,000& = 0.7 124,950
& 35,700
= 89,250
SNMEEE NSS! 68,902 0 68,902
= 34,451
= 34,451
402 QI2tXHE0IA 68,902 0 68,902
= 34,451
i 34,451
01 BIZEXI=22 X 68,902 0 68,902
OEHIZE MAI|I=AY 68,902,000& 68,902
= 34,451
i 34,451
Db=HE Y XA 51,356 0 51,356
= 25,678
& 10,272
= 15,406
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A sII=4dH
M sE=EXNEAMY

CHol: Dpaotel HME EA (sl &
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
307 2I2t01 & 51,356 0 51,356
= 25,678
& 10,272
= 15,406
02 GQltFAE=X 51,356 0 51,356
Olt==H&=AHl K& 51,356,000& 51,356
= 25,678
= 10,272
o 15,406
s2IAH g A 1,081,080 524,054 557,026
= 14,860
& 104,535
= 961,685
ST H L AL 313,880 26,334 287,546
101 2I24H| 11,126 0 11,126
10 JIZHH22HsSEs 11,126 0 11,126
OsJIHgt=2" 22 11,126
—JlEa 44,2403 + 19 * 200 8,848
—Ra5dsY 44,2403 » 1H * 28 1,239
—4EE= 10,087,000& * 0.103 1,039
201 YB3 77,854 26,334 51,520
01 AtS2teldl 44,940 3,620 41,320
Oget=ZH| 4,940
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D sl
P SENEAME

D SYIIAHE ALY t A
SN BB O (SH) - MRAY - HES Akl Y =
RE

—=JH ALY el=3 HE 400& = 3,0000H 1,200
—=JIH SUHAIE &1 2otgE9| 120,000& * 25 * 128 2,880
—=JIH =28 SHOIX MHoIE= 30,000& * 123 360
—SJIH SUAIY e JA 500,000& * 14l 500
Odxz 40,000
—=JIH SUAY 28X Xt 100,000& = 4002l 40,000

02 232944l 32,914 22,714 10,200
O33g= & HMA 5,242
—&IIe3 1,234
AUAIY &1 JIE=z 1,070 «14kW » 2= « 12€ 360
LAY &1 A= 36.43& * 1,000kW « 2= » 128 874
—AUAE XIHX BEZ 134,0002 » 1CH = 12& 1,608
—UUAE EH BEZ 10,000& * 20CH = 12& 2,400
OA&EHIS Xl 27,672
—dU=IIH, veEHA SIIH KX 150,000 = 180CH 27,000
—SJIAHSUHAIE &1 SXdl 1,017& * 330m = 2CH 672

206 M=l 2,000 0 2,000

01 M=z 4l 2,000 0 2,000
OsJIHAUHAIY 27 € e+ 20,000& » 1008 2,000

401 Al YISO 100,900 0 100,900

01 Al&HI 100,000 0 100,000
OsJ|H LHAE 2t01& 10 HAE S At 100,000,000& *» 1= 100,000

03 AlE&=C0HHI 900 0 900
OsJIAH LAY 2t0I& 10 AlE R0 100,000,000& * 0.90% 900
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A sII=4dH
M sE=EXNEAMY

el sEIIAE ALY (o E
SA BB S(S) - NRAY - BES of & o S DB
405 KtobE SHI 122,000 0 122,000
01 A =SFSHI 122,000 0 122,000
OsJIHSUHAIE J15+7Y 100,000,000& * 14 100,000
Ostexz(zy &= =8 18) 22,000,000 = 104 22,000
SIAH X 517,210 276,940 240,270
201 LBt 6,410 3,700 2,710
01 AtR2cibl 1,450 1,620 AT70
Oget=ZH| 250
—sJHussd =2 M 50,000& * 50H 250
ou=u 1,200
—sJIA=zlsc 2F I=H 100,000& = 4 * 33 1,200
02 3323l 4,960 2,080 2,880
Ozl 4,960
—SIHAAMNSY HLFIU 6,0008 = 204 » 80 960
—sJAHN=EE SUHEEH RFH 2,000& = 100CH » 20 4,000
202 0{4l 5,400 5,400 0
01 =UW0oibl 5,400 5,400 0
OsJIAH XNE RFA 12,5008 = 48 = 128 5,400
203 PR=&| 1,000 1,000 0
03 AEFIHIFAH 1,000 1,000 0
OsJlH=al 2 2= 100,000& = 102 1,000
206 M=l 84,000 82,000 2,000
01 M=l 84,000 82,000 2,000
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2N
X XH -
S Tt

SRk

seJl=s4H
SENEZAE

S A= A

m
0
]
o

SA - EB S (31H) - KR A Akl e =

OsJlHEslw2 23+ 8,000& * 10,000& 80,000
OsJlH&Eslw=2l 2+ = 20,000& * 2005 4,000

301 2et2as 1,000 1,000 0

10 SAIAHIEAS 1,000 1,000 0
OsJHusES 24 50,000& * 209 1,000

402 SI2HXHE0IHE 419,400 183,840 235,560

01 2ARE2EX 419,400 183,840 235,560
ORJIE Hz &) 2,700,000& = 100CH * 0.5 135,000
O=s8d32) =2 XN& 60,000,000& 60,000
Ogl &l =2 XN 60,000,000& 60,000
OFE=E) 52 XN& 25,000,000& 25,000
Obtsm&Ell 23 A& 9,800, 000& 9,800
Olt=+&D1(&2718) | 17,600,000& 17,600
OXNsEgHI 22 A& 1,600,000& = 704 112,000

SIAHLSESAMIY 29,720 70,000 240,280
= 14,860
= 14,860

206 M=l 2,000 0 2,000
= 1,000
i 1,000

01 =4l 2,000 0 2,000
OsIASEHEI)=nE a7 10,0002 * 200& 2,000
= 1,000
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FA:
X XH -
o Tt

SRk

seJl=s4H
sEXN ALY

S A= A

m

0
e
0

CERI(BIH) - NIRAY - A S Akl e =

i 1,000

301 et 1,120 0 1,120
= 560
= 560

10 ALY 1,120 0 1,120
Os2l 7,000& = 160H 1,120
= 560
o 560

405 KpAHF 26,600 34,000 AT,400
= 13,300
i 13,300

01 XhHatx 26,600 34,000 AT,400
ogEdl 18,000,000& * 1CH 18,000
= 9,000
o 9,000
OXNHEEs =2 8,600,000& = 1CH 8,600
= 4,300
i 4,300

SEE sA4E [H SS At 220,270 147,780 72,490
& 104,535
= 115,735

206 M=l 28,000 0 28,000
L= 8,400
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A sII=4dH
g2 sENEAMEY

=Pl s AR ALY (9 &8d)
SN Y S(BH) - NRAY - BL= 0] & o e RS2

206 =4l = 19,600

01 M=Hl 28,000 0 28,000
OsJIA NAsEHI S28A&H 200,000& = 140CH = 1.0 28,000
& 8,400
s 19,600

402 22tt=01A 186,660 147,780 38,880
< 93,330
= 93,330

01 =22 X 186,660 147,780 38,880
ogdd &2J| B=XE 1,800,000& = 240CH = 0.3 129,600
[ 64,800
o 64,800
O=Fdxdll E=sX& 4,300,000& * 7CH = 0.6 18,060
S 9,030
= 9,030
Oddtderat Uh=X WEI| K& 39,000,000 39,000
= 19,500
i 19,500

405 XHaHR S| 5,610 0 5,610
S 2,805
o 2,805

01 A =EFHSHI 5,610 0 5,610
OsJlHl+clE eI ZE 7Y 3,010,000& » 10CH 3,010
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SA:

sgJlsdH

HdM: sEXNZALE
el sHIIAHE ALY oo dA
SN EY O (BH) - MR - Ba= Aol e =2t
= 1,505
o 1,505
OsJlHusg CXAEatder 2 1,000,000 = 1CH 1,000
= 500
o 500
OsJIHus8 tES ¢ 1,600,000& ~ 1CH 1,600
& 800
= 800
NHEEES 3,500,000
= 1,750,000
& 875,000
= 875,000
AHsEES 3,500,000
= 1,750,000
& 875,000
i 875,000
RE= QIR X 3,500,000
= 1,750,000
& 875,000
i 875,000
401 AlEHIZ204YI 3,500,000
= 1,750,000
& 875,000
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A sII=4dH
gz NosdEs
el AgEEEs (chel: =
SA-EH-SRABA) - NEAMNY - BES Off &F K gggf; HwsZ
401 AEHIZ=20Y] = 875,000
01 Al£HI 3,500,000 5,987,201 A2,487,201
OREs 23 AdXH 3,500,000,000& = 14! 3,500,000
= 1,750,000
= 875,000
s 875,000
HH2HAH (5= 4H) 227,255 197,228 30,027
e 2AEH(s)I=4H) 71,907 67,674 4,233
E2IH(sEII=8H) 26,620 25,200 1,420
203 PR =& 18,220 16,800 1,420
01 Ja2dELRFal 3,300 3,000 300
OJ|22dgRF=atl 275,000& = 123 3,300
02 AP 2,320 2,400 A80
O IMtHRFAH| 40,0003 * 58 2,320
04 RN2ELRFAL 12,600 11,400 1,200
O=4&tt 350,000& = 128 4,200
Osdd Mt 350,000& = 128 4,200
Osgll=1 350,000& = 128 4,200
204 M= HY| 8,400 8,400 0
01 HAZHRHA 8,400 8,400 0
OoA%E 400,000& = 128 4,800
O 100,000& = 3% » 128 3,600
A2 R Y 45,287 42,474 2,813
I
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SN s2€Is4dH
HM: HNY2AYH (SIS HH)
el oI (sYIIsHH) (Ste: &
A -H2A(EAH) - MY - BES Ofl &F 2K gggﬁ; Hlns2t
101 Q124H| 45,287 42,474 2,813
09 RIHAZZXES 45,287 42,474 2,813
OsIIHZ=2III Ak 27,403
-J1=3 44,2402 * 198 = 300 13,272
—2&IHA2 13,272,000 = 0.10 1,328
gy 13,272,000 * 4/12 4,424
—A2t22e4g 8,3002 * 20AI2t » 12& 1,992
-R3§2LxE 44,240 * 52 2,301
—-URSEII+Y 44,2402 « 12 « 128 531
—HARSEIILY 44,2409 » 15 664
—J|l=3004 24,512,0002 * 0.018 442
—ATHEEE 24,954,0008 * 0.026 649
—I=EH(Xgs) 150,000 * 4 600
—E30i| 100,000 * 129 1,200
O At2tel 17,884
-Je3 30,900 * 1% » 300 9,270
—2&IHA2 9,270,000 * 0.10 927
gy 9,270,0002 * 4/12 3,090
— A2t % 5,8008 * 20AI2t » 12& 1,392
- R3§L22LE 30,9008 * 52 1,607
—-ARSEII+Y 30,9002 * 12 » 12& 371
— ARSI 30,9002 * 15 464
—MTHEER 17,430,000 = 0.026 454
—J|l=3004 17,121,000& = 0.018 309
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A sII=4dH
Y HHAAH(sLII=4H)

ttel: Jl=2dbl(sgllsdH) (el &H)
SN Y S(BH) - NRAY - BL= 0] & o e RS2
Jl=2ZdHl(sells4H) 155,348 129,554 25,794
Jl2ddl(sellsdH) 155,348 129,554 25,794
201 Ler2dyl 119,348 93,554 25,794
01 AtR2ciHl 92,450 80,388 12,062
Ooger=ZH| 23,600,000& 23,600
o2g+g 29,250
— 2 AH| 50,000& » 2% * 110 11,000
—=3Hl 50,000& » 1 * 365€ 18,250
Oz gl 39,600
—sgdxn 5,000& * 21 » 112 » 128 13,860
—F& 5,000& = 1728 = 112 » 123 11,220
—sgJl= 5,0008 * 229 = 112 » 123 14,520
02 3323l 26,898 13,166 13,732
Os322= € HA 26,898,000 26,898
202 o4l 36,000 36,000 0
01 =LHOIHI 36,000 36,000 0
OJl=ge =¥ 36,000
—s8du 50,000& » 21H = 128 12,600
— =4t 50,000& * 17& = 128 10,200
—=gJls 50,000& » 229 = 12E 13,200
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